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OPTION-A
Paper : COM-GE- 5016
( Principles of Microeconomics)
1. (A) Answer the following: 1x5=5
were fraicaRs Tes o

(i) Define market price.
@R T @ |

() What is marginal revenue ?

difes o T e

Contd.



(iii) Draw AR curve of an individual
firm under perfect competition.

w9 efSrafaenE oieT U S
AfSPINT AR (RAITIF S 91 |

(iv) Define monopoly market.
IR T GImT @ &

(v) Mention one important feature of
oligopoly market.

e aifer IRT Wb awged @MY T
|

(B) Answer the following as directed :

1x5=5

RO wore fMamiee Tee Bt
(i) Under perfect competition,
AR =MR. (Write True or False)
5yl efscaifienEs IWT© AR = MR
(3% @ 9% &)

() _____ name is associated with

Engel’s law in economics.
(Fill in the blank)

wRifes qem g ANS AW
Gite X SE| (T HZ 97 F)

(iii) Cartel is a type of oligopoly.
(Fill in the blank)

FICHE SfewvfeR @Bl iR |
(T HZ 97 7)
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(iv) Price discrimination is possible
only under monopolistic
competition. (Write True or False)
R faceniesd @ING  @FIfEFR

AfsrafenER TEe & |

(8% F 8% &F730)

(v) TC (Total cost) = + .
(Fill in the blanks)

+
(N7 HZ %47 7)

TC (I ) =

Answer the following in brief : (within 35
words) 2x5=10

wee MAIEIRT 53 Tes ol 2 (oabt #F fowve)

(a)

. (b)

(c)

(@)

Define cross elasticity of demand.
iR fodie RfogiereR sicel ol |

What is marginal rate of technical
substitution ?

TIRIR eifssme A¥iw 7 s & q@e

What do you mean by economies of
scale ?

s W@ I & q@e

Mention two differences between
monopoly and monopolistic
competition.

GHEHA W% GFRDR AfSrHAORERs T
Wrers 757 N T 340 |

4 (Sem-5/CBCS) COM GE/G 3 Contd.



(e} What is price discrimination ?

w3 Rrern=e i (2

Answer any four from the following :
5x4=20
weol At 5ifE6re Tl fovat 8
(a) Show the relationship between AR and
MR under conditions of monopoly
market.
G ITTS AR O MR (TS WS 9

medi |
() What do you mean by economic region
of production ?

TesiR wdiAfes owa e & e

(¢ What are the basic properties of
indifference curve ?

Barors (@47 2w TR [ e

(d) Give a brief note on the concept of
expansion path of production.

TS RIS 7129 8iF® Wb GBI el |

(e) Distinguish between social and private
costs of production.
Tesme AN IJW A% JfETe TR Tere
oMy FoiN 4 |

() Mention the important features of
oligopoly market.

wfFer i qeee aegsld ([RMBPTR B 41 |
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Explain how consumer can achieve his
equilibrium position with the help of
indifference curve analysis. 10

AT [@UF TATS o AT (FEMR WeR Sy
RZ S IRA AR, A ]

Or / 9«

What do you mean by elasticity of demand ?
Explain various types of price elasticity of
demand. 4+6=10

siftwi Rfsgvee Fe & 3o siftmR W=
Rfog-irein Rivr ez i 7101

Discuss the revealed preference theory.
10

& SN ©go! SHCETDAl 1 |

Or / 924!
Explain the returns to scale theory of
production. 10

T dfew s RIGE gm0

Explain how short-run and long-run price
and output are determined under monopoly
market. 5+5=10

GFEHT TGS FIIEW W LI TS
@R T SR Tesiv [k 2@, i <
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Or /g«

Make a comparative analysis between perfect
competition and monopolistic competitive
market. 10

=1 eferifrenE i ifie afewfenes
G TS GO TeIET SO SISCGHR |

Discuss the kinked demand model of

oligopoly market. 10
wiferer el I@E T BIfdRiT werht SeEs <1 |
Or /93t

What is collusive oligopoly ? How are price
and output determined under price-
leadership model ? Explain. 2+8=10

Rigore qogfen fofes @t iR a veRrsl
TGIR [ 2 G TS W (FOR OB 7 Wi G
@eWME MR T e i =
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OPTION-B
Paper : COM-GE- 5026
(Business Economics)

Answer the following as directed :

1x10=10
were AR Rot SR et fa ¢
(a) Define production function.
Tesilid Foee ke |
(b) Define cross elasticity of demand.
vifnIR fods ffegrermenr wicer
(c) is the root cause of all economic
problems. (Fill in the blank)
T Fe] LSS AR o7 e |

(AT HZ 797 790)

(d) Show the shape of isoquant in the case
of perfectly substitute factors.

Foop 2w ToimR CRg AT (XA
SIS (PR T, (IS |
(e} What is sunk cost ?
e T /e
() Define opportunity cost.
FRRIES IR R T

(g9 Draw a short-run average fixed cost
curve.

IR I 31 W @ quUE = 9 |

Contd.



(h) In which type of market, selling cost
exists ?
@ (RO IGRe Rl a1 A2
() Rentis a surplus.
(Fill in the blank)
el (=2 el
(3T AT 2T )
() What is real wage ?
2FS TGN N &2
2. Answer the following questions :
2x5=10
were Al e Tel fuml
(a) What is meant by expansion path ?
TR Y I B 3@
(b) Distinguish between accounting cost
and economic cost.
f251et 07 W% W A e~y |
(¢) Show the relationship between average
cost (AC) and marginal cost (MC).
5T T Wi A R TAE @edi |
(d) Write two distinctions between market

price and normal price.

TG USSR WSS W1 WeR 707 (Ags fidi |
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(e) Mention two characteristics of oligopoly.

w5 Rreor IR 75 @Ry B

3. Answer any four of the following questions:
5x4=20
were Al eIl sifeor ¥es Tet faa ¢

(a) Explain how ‘scarcity’ leads to economic
problems.

‘AR Rees iAo e R o,
EURIIEE

(p) Explain the determinants of price
elasticity of demand.

sign 7 Rfogorrer vz = |

(c) What i§ an isoquant ? Explain the
properties of an isoquant.

FAGLATA (11 o 2 TGl (i TGz
AN 1A

(d) Why is the long-run average cost curve
U-shaped ?
AP S T (@R [y U wigfes =2

(e) State the characteristics of monopolistic
competition.

GIfEPR AfsriienE Iee RErR e
() Mention the factors that determine the
real wages of labour.

g 9o TR AR Temeg Se
|
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4. Answer the following questions :

10x4=40

wers frdl eoTs Tes fudl 8

(@

(b)

What is demand forecasting ? Critically
discuss various methods of demand
forecasting. 2+8=10
sifmiy o ffem &2 siftne sFemr Rfew
ARSI FANCAGAAS Sl SHCGI |

Or / 9%t

What are returns to scale ? Explain
various types of returns to scale with
2+8=10
TR gfenm e s AR [Rfsn e
ef SR Toe fhaw T=ITe it i |

What is firm’s (producer’s) equilibrium ?

suitable diagrams.

Explain the equilibrium of a firm with
the help of marginal revenue and
marginal cost approach. 2+8=10

A SO (BeAIRIR) SiRaATel 52 i
Y 1= 2iiftes I [eigeR FgTs afodia aiae
CIAITS! Fe] SRFIT JIA T4 |
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Or / 93t

What is least cost combination of
inputs? Discuss how least cost
combination of inputs is attained with
the help of isoquants and isocost lines.
2+8=10
TN FTUOH JTH FCA! [ 2 FAAGLeAWH
@ T Y (AN TS I e
I~ AT S [, S0 4 |
Explain the short-run equilibrium of a
firm and the industry in a perfectly

competitive market. 10
o} ASAORETT TS G2 2AfSHIR =% @By
TN ZIIEN OIRHATS! I 54 |

Or / 993!

What is price discrimination ? Mention
two conditions of price discrimination.
Explain how equilibrium price and
output are determined by a
discriminating monopolist. 1+2+7=10
wq e &2 wa Reener 76156 T
%41 | gom Rrenigs Hhn e crE
I WS R AT R AR Rt 71, qo0i2
fE
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(d) Critically discuss the marginal

productivity theory of distribution.
10

oot At Termilerel SQUs! ATETDAE
S 39 |
Or /%4

Critically discuss the uncertainty
bearing theory of profit. 10

FAISY HETO! I ©TGLO! AANCENGAIHAR S
74 |
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